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Question No.1

Calcitonin is secreted by

& e T =19 gidT 81

(A) Parathyroid (Chosen option)
RIATRITS

(B) Adrenals
T T

(C) Thymus

RIERL)
%Thyroid

Question No.2

Bookmark
How much temperature should be maintained during moist heat sterilization?
T ardt IRMUHTRE oh SR =T ATGH S-1Y AT ST 18Q?

) 1510¢
151°C
(B) 9400
91°C
W121°C (Chosen option)
121°C

®) 1g1°¢
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Question No.3

Bookmark
Satpura National Park is situated in which State?

gqger g I &Y 7T 7Ud 872

M/Iadhya Pradesh

(B) Andhra Pradesh
3idar

(C) Maharashtra
HERT

(D) Himachal Pradesh
AT 30

Question No.4

Bookmark
"Liquid membrane systems" are also called as
"AIE AT GeH" Hl ot ohgt ST 81

(A) Aquasomes

(B) Nanocapsules

MMuItipIe emulsions (Chosen option)
QehTeh UTad

(D) Virosomes
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Question No.5

Bookmark
Sigma - minus method is used to determine
AT - AT ¢ hl IUANT th TYRUT Shel AT STl 8
(A) Metabolic rate constant
AT &R Uh

(B) Absorption rate constant
JILMYUT &R AWRieh

(C) Excretion rate constant
IS R Ah

Mlimination rate constant (Chosen option)

Question No.6

Bookmark
"Capsid" is present in

q "% g3" HIS[E g1 8l
(A) Fungi
hh <
Mirus
qurg
(C) Bacteria (Chosen option)

(D) Protozoa

Question No.7

Bookmark
Willingness to strive for the goals of a particular group is termed as

Ueh I TG = RT T helq AT Hi-ich 3BT ohl Y FSTHT ST 8
(A) Halo effect
gTell 91a (Halo effect)

(B) Appraigal

M/Ioraleg:q-rd;r
e

(D) Constitution
Hau™
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Question No.8

Bookmark

Estimation of serum creatinine is considered to be a more reliable indicator for the evaluation of
& Uik heTq HIRH e ol STH 3eeh IH1T Toh deh HHT STl 8

(A) Liver function
Yh d ch hIYHT

() Kidney function (Chosen option)
T[&<h <hIIHCT

(C) Lung function
% haeh AT

(D) Gastric function

Question No.9

Bookmark

In this question, the relationship between different elements is shown in the statement. This
st-atement follows
g

Statement: B>R>0=W >N

Conclusions:
i)B>0
i)W<R
ii)B>N

39 ¥, YT Y9 d9 o dI G chl SATAT 7T § | Y SIS I ThYSHTTY 1 &Y Y h- ahl TF AR
3T 7Y ghYT HOR T

AYT-B>R>0=2W>N

IHY:
i)B>0
i)W <R
iii) B > N
(A) Only i) and ii) follow
o I RN i) 3R i) STTERTT Hdg
(B) None follows
ol T TRYSITEROT g el &
W) Al follow
Y TR g
(D) Only ii) and iii) follow
& g Y i) 3R iii) TR FRAE
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| Question No.10

Bookmark
Which one of the following is the basic chemical test to identify anthracene glycosides in Aloes?

TFerEd A8 IR (Aloes) AU:THIA ATShIHSS & UG ehi-ich @G Hel AHTF-Teh UI0T Bl 67

A
HeMned SR gdor
(B) Keller Killiani test
& TR herdTT g I TioT
(C) Borntrager test (Chosen option) sHTR &

(D) Legal test

Question No.11

Bookmark
In a certain code language, if APPLE is coded as SDSHO, then how is DOUBT coded in that

language? Teh IV G T 9TNT |, I& APPLE &7 i SDSHO 8, dt St “I1sT 7 DOUBT o i€ a1 gim?

RGXWE
RGXWE

(B) WLFYG
WLFYG

(C) XFYSH
XFYSH

(D) GRXEW

Question No.12

Bookmark
For the preparation of Codliver oil emulsion, the ratio of oil ; water : gum required is
PIEelier Hidel SA T AARY helq, del : TTHT: TG T STadeh ST T 872
(A) 02:02:01 (Chosen option)
02:02:01
\af6402ﬂ1
04:02:01
(C) 01:02:01
01:02:01
(D) 03:02:01
03:02:01
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Question No.13

Bookmark

The ratio of number of girls to boys in a school of 3600 students is 39:41. How many more girls should
be admitted to make the ratio 1:1?

F o 3600 dATT T AT ATeIYh G o HASHT 3R TSeh o GT ol AT 39:41 &1 IJUT I 1:1 THeich a1¢ 3R
Tha-! ASHT ! d AT ST ATEY?

'
90
(B) 110
110

(C) 80
80
(D) 100
100
Question No.14

Bookmark

By which bond, amino acids are joined together?

Y FYF HRT, AT 3T Yeh T JSdg?
(A) Dipole-Dipole (Chosen option)
o Eﬂ'q’

(B) lonic
S IRIEED

(C) Hydrogen

Mmide

Question No.15

Bookmark
"Hammer mill" works on the principle of
"§R Hel" i UR HIH Hdl 8l
(A) Cutting
hddl

B Impact (Chosen option)
HId

(C) Compression
odIq

(D) Attrition
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Question No.16

Bookmark
Erection of rat tail is observed by, after administration of
TY S d1e, Ygoh Y T IYTUA (erection) 3T ST &
(A) Non Opioid analgesic drug
A1 3MUSNES QAT &ar
(B) Cox-1 inhibitors
PIY -1 ERAYUh

o P ETEREGESERE] Cosen option)
3igsefiss TSI &ar

(D) Cox-2 inhibitors
P -2 AR

Question No.17

Bookmark
Sodium bi carbonate is commonly known as

IS ATSehla-c ht STHAR AT SSTHT ST 8

(A) Caustic soda
PIeeh AIeT

(B) Rochelle salt
AT TR

¢ EERREISERR Cosen option)
<RI JiET

(D) Epsom salt

YT THh
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Question No.18

Bookmark
The band of the coloured components of a light beam is called its

I Yol haft T geeh & U (38) I g 8l

(A) accommodation
qHSH

(B) range
IR

wspectrum (Chosen option)
uq

(D) form

Question No.19

Bookmark
is the synthetic polymer

F H Ul R g1
WCaprolactone

(B) Gliadin
SICKCE]

(C) Pullulan
efefT

(D) Chitosan
ErareC

Question No.20

Bookmark
By selling a CPU for Rs.6785, a man makes a profit of 15%. At what price should he sell it to
make a profit of 25%? (in Rs.)

Ueh =RT Ueh CPU &t 6785 GAHSTIRTR 15% T @11 8IdT &1 25% AT & @T I8 CPU ahl shid-HsIg-T gRIT?
(Rs. H)
(A) 7275
7275
(B) 7475
7475
(C) 7575
7575
7375

7375
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Question No.21

"Brownian motion" is observed if the particle size is reduced to
< hUT JTRR YRH gl SI1aT1 §, ot "=13aH TTd” S S 8
(A) 6 microns 6 AT

(B) 8 microns

8 ATEIY

V2 microns

2 AIE

(D) 4 microns (Chosen option)

Bookmark

Question No.22

Heterocyclic compounds are

g™ (Heterocyclic) aiTen gag!
(A) Alicyclic compounds
UAdTSeIeh dNTeh

%yclic compounds

Ig TR

(C) Open chain compounds

el - @el & dhTeh

(D) Non cyclic compounds

Bookmark

Question No.23

are described?
&Y Y & dgd “Igae, I AR it g Ga1 helg 379 IUTEH Ul dord 52
(A) Schedule —Z
gt -2
(B»Schedule = T
SgHt - T
(C) Schedule — S
gt - S
(D) Schedule — M (Chosen option)

gy - M

Under which Schedule “Good Manufacturing practices of Ayurveda, Siddha and for all Unani drugs”

Bookmark

Question No.24

Dehydration of alcohols lead to the formation of

3TehIg chToTeiIeh0T & CEGIE]
(A) Alcohol 3Tertge

vther (Chosen option)
FW

Bookmark
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(C) Ester
Lery

(D) Aldehyde
Usglss (Aldehyde)

Question No.25

Bookmark

Sound cannot travel in
g T a8 HH9T 78 81

(A) Water
STef

(B) Air
ag

M/acuum (Chosen option)
IdT1d

(D) Steel

Question No.26
Bookmark

The reaction between an acid and a base to give a salt and water is known as a
reaction

31T 3R =R & g TU gi-dTelt ag JAT-h AT STHHIIUT 3R STt 79d g7 &, 3197 b T
TSI STt 8

(A) nucleophilic

(B) double decomposition

I U

(C) combustion
e

w) neutralization (Chosen option)
Jereiiazor

Question No.27
Bookmark
A document or set of documents that serve as a basis for the batch documentation is called as

Qeh TS AT EdTeST el 4G Sit o< oI h3ATHR chY HehH hidg, 36 EISIGI
(A) Master Formula

HTeR ThigeT
(B) Calibration

& A=

C)gMaster Record
HIeR This

(D) Consignment
CaIERLI
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Question No.28

Bookmark
Synonym for Indian squill is:

YR g (Indian squill) ST THMETY gl
(A) Arrow poison
QA Ul
(K) Sea Onion
Y gret
(C) Liquorice root (Chosen option)
qelS & 1S

(D) Yam

Question No.29

Bookmark
Buffers are added in the sterile products to maintain

& §FTT IGcheTq eX15el IUTE A HeATT S8 |
(A) Viscosity
AT (Viscosity)
(B) Isotonicity
JTEalcHEe
(C) Sterility
Reld

(3% pH (Chosen option)

Question No.30

Bookmark
Chapter - Il of Drugs and Cosmetics Act 1940 and Rules 1945 gives information about
Sftwer SR e ATt STeTH 1940 T 1 - 11| 3R 79 1945 & SRR &dT 8l

(A) Drugs technical advisory board
39 Jehr1Ih TATEHR 1S

(B) Manufacture, sale and distribution of drugs and cosmetics
&aT 3R e 9t &1 IUTeH, § 3R gavor

@)
situer SR AT At &t AT

(D) Provisions relating to Ayurvedic, Siddha and Unani drugs

3gdach, 9 3R AT &aT AGaYd =14

Question No.31

Bookmark
The "CMC section of Investigational new drug application" should be bound in a

"CMC 9219 3Tth SAcTIRMS T Tedlch Q4" T AT T 9184
(A) Black press board binder
3 2 e
(B) Red polyethylene binder
T Ulettefis arEgs

(Ci'Green pressboard binder
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A 79 disaEs

(D) Orange press board binder
3RS Y SigaTssR

Question No0.32

Bookmark

In HPLC, while supplying mobile phase by mechanical pump, which device is required to smooth

out the pulses?
HPLC #, #h ehel GU «RT HidTSel TRUT & Y PRAGHY, US ehl ST I§d helq el JUHRUT & Tediehdl

gt 82
(A) Injection
goI (91 )

(B) Gauze
et (Gauze)

(C) Temperature
drgdT_ (Temperature)

) DG

Question No.33
Bookmark

The Chadha Cup is related to which game/sport?
1 Y ST A6’ Y Wel/duurda?

(A) Cricket
e

w?:) Badminton

Crtirc]

(C) Football
2t
(D) Chess

Question No.34
Bookmark

B.C.G Vaccine is a bovine strain of
B.C.G adf= T Ueh ia18 -9 81
Mycobacterium tuberculosis
(B) Salmonella typhi
AT T8h
(C) Hepatitis virus (Chosen option)

2UTTEey ARy

(D) Parainfluenza virus

BRESUSIGIDRE

Question No.35
Bookmark

Who is known as the 'lron man of India'?

R I ‘I V' hehgl SITdl 872
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(A) Subhas Chandra Bose
Iy T S

ardar Vallabhbhai Patel (Chosen option) €&R
TS Tt

(C) Jawaharlal Nehru
STATERATd 8

(D) Samudragupta
I

Question No.36

Bookmark
Which among the following is also known as the 'Council of States'?

T AORIRIT WS ('Council of States') &hd #t STHT ST 872
(A) Corporation Assembly

TITH URES,
(B) Lok Sabha

Atep T

(C) Legislative Assembly
YT

WRajya Sabha (Chosen option)

Question No.37

Bookmark

In Differential Thermal analysis, a record is made of the
g qrdg g @voT A, T TPISITR AT ST 8
(A) Energy inputs (Chosen option)
(B) Moisture difference

THY 3R

«) Temperature difference
ATIHT 3R

(D) Mass difference
A 3R

Question No.38

Bookmark
A test which measures the ability of a compound to diminish the concentration of sugar in the blood is

Ueh URYOT STt X HRIeh I & JUACT ot thH chidch AU hdl THTeh o JdT bl ATYAT &, I8 gl
(A) Hyperglycemic test
BISIRATSH A TioT

(B) Glucose tolerance test (Chosen option)
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QTeh 3T T Uo7

(C) Liver function test

TP d AT TR0

N

Question No.39

Bookmark

"Spreading coefficient" is a factor to be considered in the preparation of
"IATROT I[UTIeh” Teh hReh &, S8 & JUR B IRET ST 9184 |

otions (Chosen option)

wirer (GRS
(B) Elixirs
TAWR (Elixirs)

(C) Ointment
gH (Ointment)

(D) Solutions

Question No.40
Bookmark

The Chief Election Commissioner of India is appointed by
YR T aTa 317G & Y hYhRT & Sl §7?
(A) The Prime Minister

T

(B) The Chief Justice of India (Chosen option)
WRA hid T

) The President
A9d

(D) The Vice President

Question No.41
Bookmark

Which type of major volatile compound is contained in cinnamon?
ST 7ehd hR hT {@ arusfter IRTes gidr 87
(A) Ketone compound

held TNTeh

(B) Phenolic compound (Chosen option)

ThelleTeh TNTTeh

(C) Ester compound

TR ITeh

ldehyde Compound
QSgIss ATk

Question No.42
Bookmark

Electro Reducible substances can be determined by
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SRl UeT i PRI TR AT ST JehT g

wAmperometry
TR

(B) Potentiometry
gieam

(C) Calorimetry
& AR

(D) Conductometry (Chosen option) @& Sdeid

Question No.43

Bookmark
Conceptual skill deals with
Yepu-TH hislet (Conceptual skill) T Taer qe|

(A) People
T

(B) Process

a3

(C) Things
et g

w Ideas (Chosen option)

Question No.44
"Astrocytes" are present in

".@g-lgz:\:‘r" q—:ﬁm"\z ?ﬂﬁgl
(A) Blood - cerebrospinal fluid barrier (Chosen option)

- OdchA g STaRIeeh

(B) Blood placental barrier

T IAT STRIeh
MBlood brain barrier
T Hdh SRR

(D) Cell membrane barrier

ThIRTERT STl TERIeTh

Question No.45

Bookmark
What is the full form of CNG, in controlling vehicular air pollution?

AT T HATNUT &l A Fhdtell CNG T QUHTH a7 872
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(A) Combined Natural Gas

& J158 AR A9
ompressed Natural Gas (Chosen option)

@ 8 AgRE

(C) Common Natural Gas
HIA AR T

(D) Combined Nitrogen Gas
% 138 T8I 19
Question No.46

Bookmark
Who introduced the Mutation theory?
IuRga+ $hdid (Mutation theory) @T duTGe B &7
(A) Camillo Golgi (Chosen option)

& Tt TSt
(B) Edward Jenner

RECENE

(C) Von Baer
g1 TR

T, HUGeEEs

Question No.47

Bookmark
Absorption of IR radiation by molecules cause changes in

3707 <R IR Fh0T hofaRiieor 9 HORAA 1T 31
1" Vibrational energy
@ O Sell
(B) Spin reversal of nuclei (Chosen option)
ATHch hl U g

(C) Rotational energy
HUT ST

(D) Electronic energy

Question No.48

Bookmark
An internal device which can be used to store information is
Udh IRIdReh (internal) IUSHRUT ST IUTNT STTHGRT i Tgid dhe-ich A T ST Tohd 8, T8 B
(A) Floppy disk
dArdt
(B) CD
g

(C) USB flash drive (Chosen option)
USB 21 =T8a

0@ Hard drive
grsigd
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Question No.49

Find the next number in the series.

61,73,66,78,71,7?
T ST T ST TAT =1d ol
61,73,66,78,71,7
(A) 93
93

W3 (Chosen option)
83

(C) 73
73

(D) 77 77

GET IT ON
Google Play

Bookmark

Question No.50

Aspirin should be used with caution in

QURA T STIRT AGIGYTT haTl AT ST ATEY |

(A) Fever
JUR

th
Grams

(C) Headache
Wag

(D) Tachycardia

Bookmark
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Question No.51

Bookmark
A lady stands on the road facing the East direction. She turns 48 degrees in clockwise direction
and 72 degrees in anti-clockwise direction. Which direction is she facing now?
Ueh Hgell Ugeh UR JaeRT & 3R Hg ohich @l § 81 98 48 31 qumaasik U 72 Sl arHTaaygHdt g1 31 IHehT
g Y 3T & 3R 872

North-East (Chosen option)

R G

(B) North-West
3-UH

(C) South-West
qUI-UH

(D) South-East
Gl

Question No.52

Lignans are the constituents of &= &I °eh g | ATShIUN

(A) Pomegranate (C) Soy

SR

(B) Lycopene Bookmark
a9

Flax seed (Chosen option)

ot
Question No.53

Bookmark
Absorption of radiation can be measured by using

TehTUT h3TRNUT cht T IUTNT ehech HTAT STT ehdT g
(A) Flame Photometry
AT idH

(B) Voltammetry
Cira|

%pectrophotometry (Chosen option)
deRimieH

(D) Polarimetry
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Question No.54

Bookmark
Liquid oral preparations of which one or two large doses of about 50ml are given in a single
dose container is known as
R HIgeh EaT8 S8 50 Acfiellex & Yeh IT &l T8I GRTeh, Yeh T1 ERIh dTeich ¢R Ag ST g3d
FEE |
(A) Linctuses
hed

(B) Tinctures
X

@Draughts (Chosen option)
e

2

(D) Drops

Question No.55

Bookmark
Apparent bulk density is expressed in terms of
A Yt g9 (Apparent bulk density) @t & =RT AT STl gl
(A) ml/g
ml/g
(B) %
%
o
ag/ml
(D)°C
°C

question No.56

Bookmark
Which one of the following is not radiation obtained from radioactive compounds?

FIeTEd HYhH T 38T 1eH GTeh T Tehv0l =g 872
(A) Beta
sfter

Epsilon (Chosen option)

kY

Tl

(C) Gamma
TTHT

(D) Alpha 31
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Question No.57

Small-pox vaccine is a

3AIeh ol e grar |

(A) Bacterial vaccine

Sftaraes aant
(B) Toxoid

(9]

EEIES]
(C) Antiserum

vedRyg
Miral vaccine (Chosen option)

Bookmark

Question No.58

What compound is present in Ashwagandha?
STIET Hehl=-9T UNTeh HISIG BIdT 872
(A) Steroidal Glycosides (Chosen option)

(R E] 1

teroidal lactone
Rigsd da=
(C) Terpenoid glycoside
<Uiss
(D) Terpenoid alkaloids
TU-ISS 3chdllss

Bookmark

Question No.59

Antimony Potassium tartrate is commonly known as

TI™H 2Te ahl STHAR TR
Tartar emetic

TRX sHeh

(B) Epsom salt
YT JHh

(C) Caustic soda
PIeh el

(D) Rochelle salt (Chosen option)
AN THh

el ST |

Bookmark
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Question No.60
Bookmark
Commonly used spice clove is obtained from
JTHAR TR IYANT HAT AT AHTAT AT qrd glar gl
(A6 Flower bud (Chosen option)
G o & el
(B) Rhizome
NENIE]
(C) Root
NS
(D) Leaf
Question No.61
Bookmark
Indicate the problem in the dosage form when camphor and menthol are added
together U 3R HeTel hl Teh T AATY THUR FRTh AIHAT <h S71d |
(A) Effervescent
35T (Effervescent)
(B) Deliquescent
argrge-efier (Deliquescent)
(C) Hygroscopic
(Hygroscopic)
(I3% Eutectic
Question No.62
Bookmark
A train passes a station platform in 54 seconds and a man standing on the platform in 38
seconds. If the speed of the train is 29 m/s, what is the length of the platform? (meter)
Uah 1 Ueh ¢ AChIHAD! 54 Tch 8 H3R I IcthiHUR WaUdh 3MGH! ohl 38 Teh S AUR hedl g1 TG A
Td 29 m/s g, df diethide daTs «Td dhefd? (meter H)
(A) 458
458
(B) 462
462
(C) 456
456
(1) 464
464

Question No.63

Bookmark

1950 boys and 1300 girls are examined in a test; 42% of the boys and 36% of the girls pass the test.

The percentage of the total who failed is
1950 ASH3R 1300 ASHATYHh URIT ARATHA T; STHHE 42% ASHh 3R 36% TASHhY AU Uk | &

gdTeld o BT T I «Td Helg?
(A) 62.4
62.4
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(B) 62.3

62.3
(C)61.4
61.4

«pf60.4 60.4

Question No.64

Bookmark

Angio-oedema is the adverse drug reactions affecting the
GoTa- 3T oh! {Tad SheAaTel! dd o SHTe 377aTU 8l
(A) Gastrointestinal tract

SIS Uy
(B) Liver

gop d
(C) Pancreas

SR

WSkin (Chosen option)

Question No.65

Bookmark
As per Drugs and Cosmetics Act 1940 and Rules 1945 (Schedule A), Which application form

should be used to grant a license for manufacture of ayurvedic and unani drugs?

3ftrey SR T1e ATt Sremad 1940 3R a9 1945 (Y A) o SITHR 3TgdGh SR AT &dT SheTAT0T & AQ
ATSTY ScheTq oy 3TTAEH HiHhT TNT SHdT ST ATgU?

24D
24D

(B) 24B
24B

(C) 24A (Chosen option)
24A

(D) 24C

Question No.66

Bookmark
Axis is a bone of

3ffT g1 (Axis bone) Fergl
(A) Skull (Chosen option)
Qg

Mpinal cord
Aéz

(C) Leg
R

(D) Forearm
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Question No.67

Bookmark
The sum of kinetic and potential energy of an object is its total energy
YT T TTAST TSR TS Hollehl TN I G o FoTThgaTd g1

(A) electrical
Eiu

(B) chemical
NIRRT

Mechanical
Tgich

(D) thermal

Question No.68

Bookmark
On dividing a number by 413, we get 58 as remainder. On dividing the same number by 59, what
will be the remainder?

Uch TIT ht 413 YTHTSId PR AT 58 =Td BidT &1 S TAT Y 59 JUTSTd U= AV cha=T =Td GHRTT?
(A) 56

56
(B) 54

(€58

(D) 52

54

58

Question No.69

Bookmark
Enamel is a constituent of

L] Uch ¢ g
(A) Hair
1t T

veeth (Chosen option)
&id &1

(C) Nail
ARG <pt
(D) Bones
R

Question No.70

Bookmark
What is the Sl unit of Wavelength?

JeTH S| ghTs AT 8?2
(A) hertz
gl
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%meter
Hiex

(C) decibels (Chosen option)
sHtea

(D) second

TG s

Question No.71

Bookmark
The transformation of the larva into an adult through drastic changes is called

JATATERT TIh hT HEHATAT ST URad hgelldl -

Metamorphosis (Chosen option)
HIITAROT

(B) menopause

(C) reverse osmosis

JUT URIEROT
(D) budding

Question No.72

Bookmark
Which one of the following is the statistical procedure to detect the differences existing in-between
two or more samples?

T A &t & A1 & SNk THA & &t 3R I UdT HTHch oI Hidehd AT 872
(A) Arithmetic mean (Chosen option)
3eRITuTY S (Arithmetic mean)

(B) Chi square test
SIS-ITARIT (Chi square test)

(C) Standard error
A &Y ( Standard error)

ANOVA
ANOVA

Question No.73

Bookmark
Any undesirable change in the physical, chemical or biological features of air, land and water is called
g, A 3R ST & Hideh, IGTIeh IT Stach GANAT Hepd! Ht STaie-1a gkaa- ol gl ST g

(A) Pollutants (Chosen option)
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Yeh
w Pollution
yor

(C) Ecology
WRYdh

(D) Ecosystem
URYdh o

Question No.74

Bookmark
The ratio by number of atoms for water is H:O =
STeT H H:O o UHTY] hl AT U il 8-
(A) 1:2
1:2
(B) 1:4
14

Mﬂ (Chosen option)

Question No.75

Bookmark
According to Drugs and Cosmetics Act 1940 and Rules 1945, the insulin preparations should be
stored at a temperature

Stue SR Gre 9Tt STUTH 1940 3R 97 1945 FHIUR, g0 2WRM (Insulin preparations) ct
oh dTIHTE R Ygd &hdT STHT 18T |

A) g 10 25°C
99 25°C

%elow 1°C
1°C Q¥

©) 2 to 8°C (Chosen obtion)
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Question No.76

Bookmark
"Type - llI" of drug master file gives information about

“Xoff - 111" 71 AR e & ARASTRN T 81

(A) Drug substances

3ftwefir uery

(B) Personnel / Facilities
TR [ GauTd

) EEEREEIEIENER Chosen option)
Ok ST 9Tt

(D) Excipients
Yhduded (Excipients)

Question No.77

Bookmark
Patna city is situated on the bank of the river
TeAT TgR Y A h d¢ TR I97 377 87

( nges
Rppnees

(B) Mahanadi
HeFC

(C) Brahmaputra
9

(D) Yamuna (Chosen option)

ag

Question No.78

Bookmark
Drugs which are having high solubility and low permeability are called as

Ig gargareit 39 gasfierdT 3R SH URITIdT dreft gt §, S8 TheT SITdT 8

(A) Class IV drugs _
20t 1V o aareal

(B) Class | drugs .
>oft | & careat

lass Il drugs .
oft 11l & argaf

(D) Class Il drugs
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Question No.79

The Indian Army constructed the longest suspension bridge called ‘Maitri’ across which

river? YR AT +RT Gedciaglen gal (FU ) 'JY T 75107 ol ¢ R T TaT?
(A) Narmada

JHET

wlndus (Chosen option)

Y

(C) Brahmaputra
9

(D) Ganges

Bookmark

Question No.80

"Lecithin" is an example for
"AGY" T Ueh IETE 0T 8

(A) Phenolic type of Antioxidant (Chosen option)
TheleTeh R Sh dSHIHIhReh

(B) Quinoline type of Antioxidant
e BR & qeirdihRe

(C) Organic acids, alcohols and esters
Staeh 37eT, STehigd 3fiR Tex

w Amine type of Antioxidant
THIF &R hasiidieRe

Bookmark
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